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In 𝚫𝐉𝐊𝐋,  𝑱𝑬̅̅ ̅ = 𝑬𝑳̅̅̅̅ , 𝑲𝑭̅̅ ̅̅ = 𝑭𝑳̅̅̅̅ , 𝑱𝑫̅̅̅̅ = 𝑫𝑲̅̅̅̅ .̅ Complete the statements below. 

1. If 𝑱𝑲̅̅̅̅ = 𝟗𝒙 − 𝟓 and 𝑬𝑭̅̅ ̅̅ = 𝟔𝒙 − 𝟏𝟑, what is 𝑫𝑲̅̅̅̅ ?̅ 
 
 
 
 
 
 
 

2. If 𝑲𝑳̅̅ ̅̅ = 𝟏𝟓𝒙 + 𝟐 and 𝑭𝑳̅̅̅̅ = 𝟐𝒙 + 𝟏𝟐, what is 𝑫𝑬̅̅ ̅̅ ? 
 
 
 
 
 
 
 

3. If 𝑱𝑬̅̅ ̅ = 𝟏𝟓 + 𝟐𝒙  and 𝑫𝑭̅̅ ̅̅ = 𝟖𝒙 − 𝟗, what is 𝑬𝑳̅̅̅̅ ? 

 

 

 

 

 

 

 

 

In 𝚫𝐀𝐁𝐂,  𝑨𝑭̅̅ ̅̅ = 𝑭𝑪̅̅ ̅̅ , 𝑨𝑬̅̅ ̅̅ = 𝑬𝑩̅̅ ̅̅ , 𝑪𝑩̅̅ ̅̅ ∥ 𝑭𝑬̅̅ ̅̅ . Find the value of 𝒏. 

4. 𝑬𝑭̅̅ ̅̅ = 𝟖𝒏 + 𝟏 and 𝑩𝑪̅̅ ̅̅ = 𝟏𝟒𝒏 + 𝟏𝟐  
 
 
 
 
 
 

5. 𝑨𝑭̅̅ ̅̅ = 𝟏𝟒𝒏 and 𝑬𝑫̅̅ ̅̅ = 𝟔𝟎 + 𝟐𝒏 
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ANSWER 

In 𝚫𝐉𝐊𝐋,  𝑱𝑬̅̅ ̅ = 𝑬𝑳̅̅̅̅ , 𝑲𝑭̅̅ ̅̅ = 𝑭𝑳̅̅̅̅ , 𝑱𝑫̅̅̅̅ = 𝑫𝑲̅̅̅̅ .̅ Complete the statements below. 

1. If 𝑱𝑲̅̅̅̅ = 𝟗𝒙 − 𝟓 and 𝑬𝑭̅̅ ̅̅ = 𝟔𝒙 − 𝟏𝟑, what is 𝑫𝑲̅̅̅̅ ?̅ 

𝑱𝑲̅̅̅̅ = 𝟐(𝑬𝑭̅̅ ̅̅ ) 
𝟗𝒙 − 𝟓 = 𝟐(𝟔𝒙 − 𝟏𝟑) 
𝟗𝒙 − 𝟓 = 𝟏𝟐𝒙 − 𝟐𝟔 
𝟐𝟔 − 𝟓 = 𝟏𝟐𝒙 − 𝟗𝒙 

𝟐𝟏 = 𝟑𝒙  
𝟕 = 𝒙 

 
𝑫𝑲̅̅̅̅ ̅ = 𝑬𝑭̅̅ ̅̅  

𝑫𝑲̅̅̅̅ ̅ = 𝟔𝒙 − 𝟏𝟑 
𝑫𝑲̅̅̅̅ ̅ = 𝟔(𝟕) − 𝟏𝟑 
𝑫𝑲̅̅̅̅ ̅ = 𝟒𝟐 − 𝟏𝟑 

𝑫𝑲̅̅̅̅ ̅ = 𝟐𝟗 
 
 

2. If 𝑲𝑳̅̅ ̅̅ = 𝟏𝟓𝒙 + 𝟐 and 𝑭𝑳̅̅̅̅ = 𝟐𝒙 + 𝟏𝟐, what is 𝑫𝑬̅̅ ̅̅ ? 
𝑲𝑳̅̅ ̅̅ = 𝟐(𝑭𝑳̅̅̅̅ ) 

𝟏𝟓𝒙 + 𝟐 = 𝟐(𝟐𝒙 + 𝟏𝟐) 
𝟏𝟓𝒙 + 𝟐 = 𝟒𝒙 + 𝟐𝟒 
𝟏𝟓𝒙 − 𝟒𝒙 = 𝟐𝟒 − 𝟐 

𝟏𝟏𝒙 = 𝟐𝟐 
𝒙 = 𝟐 

 

𝑫𝑬̅̅ ̅̅ = 𝑭𝑳̅̅̅̅  
𝑫𝑬̅̅ ̅̅ = 𝟐𝒙 + 𝟏𝟐 

𝑫𝑬̅̅ ̅̅ = 𝟐(𝟐) + 𝟏𝟐 
𝑫𝑬̅̅ ̅̅ = 𝟒 + 𝟏𝟐 

𝑫𝑬̅̅ ̅̅ = 𝟏𝟔 
 
 

3. If 𝑱𝑬̅̅ ̅ = 𝟏𝟓 + 𝟐𝒙  and 𝑫𝑭̅̅ ̅̅ = 𝟖𝒙 − 𝟗, what is 𝑬𝑳̅̅̅̅ ? 
𝑱𝑬̅̅ ̅ = 𝑫𝑭̅̅ ̅̅  

𝟏𝟓 + 𝟐𝒙 = 𝟖𝒙 − 𝟗 
𝟏𝟓 + 𝟗 = 𝟖𝒙 − 𝟐𝒙 

𝟐𝟒 = 𝟔𝒙  
𝟒 = 𝒙 

 
𝑬𝑳̅̅̅̅ = 𝑫𝑭̅̅ ̅̅  

𝑬𝑳̅̅̅̅ = 𝟖𝒙 − 𝟗 
𝑬𝑳̅̅̅̅ = 𝟖(𝟒) + 𝟗 
𝑬𝑳̅̅̅̅ = 𝟑𝟐 + 𝟗 

𝑬𝑳̅̅̅̅ = 𝟒𝟏 
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In 𝚫𝐀𝐁𝐂,  𝑨𝑭̅̅ ̅̅ = 𝑭𝑪̅̅ ̅̅ , 𝑨𝑬̅̅ ̅̅ = 𝑬𝑩̅̅ ̅̅ , 𝑪𝑩̅̅ ̅̅ ∥ 𝑭𝑬̅̅ ̅̅ . Find the value of 𝒏. 

4. 𝑬𝑭̅̅ ̅̅ = 𝟖𝒏 + 𝟏 and 𝑩𝑪̅̅ ̅̅ = 𝟏𝟒𝒏 + 𝟏𝟐  

𝟐 ⋅ 𝑬𝑭̅̅ ̅̅ = 𝑩𝑪̅̅ ̅̅  
𝟐(𝟖𝒏 + 𝟏) = 𝟏𝟒𝒏 + 𝟏𝟐 
𝟏𝟔𝒏 + 𝟐 = 𝟏𝟒𝒏 + 𝟏𝟐 
𝟏𝟔𝒏 − 𝟏𝟒𝒏 = 𝟏𝟐 − 𝟐 

𝟐𝒏 = 𝟏𝟎 
𝒏 = 𝟓 

 
 

5. 𝑨𝑭̅̅ ̅̅ = 𝟏𝟒𝒏 and 𝑬𝑫̅̅ ̅̅ = 𝟔𝟎 + 𝟐𝒏 
𝑨𝑭̅̅ ̅̅ = 𝑬𝑫̅̅ ̅̅  

𝟏𝟒𝒏 = 𝟔𝟎 + 𝟐𝒏 
𝟏𝟒𝒏 − 𝟐𝒏 = 𝟔𝟎 

𝟏𝟐𝒏 = 𝟔𝟎 
𝒏 = 𝟓 
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